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1 ABC Co. Ltd., have furnished the following informations. 20
Trading and P and L A/c. for the year ended 31-3-2016 :

Particulars Rs. | Particulars Rs.
To Materials consumed 3,90,000 | By sales (9750 units) 10,23,750
To Wages 2,25,000 | By closing stock (250
To Gross Profit 427,500 [ unmits @ Rs. 50) 18,750
10,42,500 10,42,500
To Factory overhead 1,38,000 | By Gross profit 4,27 500
To Office overhead 1,59,000 | By Interest 3,000
To Selling Expenses 84,000 | By Rent 9,000
To Bad debts 7,500
To Goodwill written off 15,000
Net profit 36,000
4,39,500 4,39,500

The cost sheet shows the following :

(1) Cost of materials and wages are debited at actual cost.

(2) Factory overheads are absorbed @ 60% of labour cost.

(3) Office overheads are absorbed @ 20% on factory cost.
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4)

Selling overheads are charged @ Rs. 9 per unit.
You are required to prepare :

(1) A statement of cost and profit as per cost account
for the year ended 315' March 2016.

(2) Reconciliation Statement.

OR

1 A company manufactures two types of machines A and B, 20

details regarding both are given below :

Particulars Machine A Machine B
Production in unit 250 800
Sale in unit 240 720
Labour charge per unit 80 60
Material per unit 30 24
Selling price per unit 250 180

NAX-002-001403] 9

Expenses except material and labour are shown under
two heads factory overheads and office expenses. Actual
factory expenses are Rs. 18,000 and office expenses are

Rs. 20,000 for the period under consideration.

While determining selling price, it is decided to include

factory overheads at 50% of labour and office expenses at

33%% of factory cost.

You are required to prepare :

(1) Cost sheet, showing total and per unit cost and profit,

based on the percentage of overheads given above.

(2) Stock valuation in financial account is done on basis of
actual material + labour + factory overheads at 50%

of labour for both types of machines.

(3) Reconciliation Statement.

[Contd...



2 A building contractor took a contract of Rs. 22,00,000. 20
At the end of first year, work in progress account and
contractee accounts are as follows :

Work- in-progress Account

Particulars Rs. | Particulars Rs.
To Contract Alc By Contract Alc
Work certified 5,00,000 (Reserve) 82,000
Uncertified work 45,000 | By Balance c/f 5,40,000
Closing stock 5,000
Plant (After
depreciation) 72,000
6,22,000 6,22,000
Contractor's Account
Particulars Rs. | Particulars Rs.
To Balance b/d 4,00,000 [ By Cash Alc. 4,00,000
4,00,000 4,00,000
Details of second year is as under :
Rs.
Vendor's issued materials directly...................coooee.. 3,25,000
Materials issued from StOres .........cooeeeeeeeeeeeeeneeeeeennnn.. 2,88,000
Material taken from StOTYeS........oooeeeeeeeeeieeeieeeeeeeieeaeeens 95,000
Proposnet indirect expenses to the contract ................. 76,000
Wages paid ........oooeeieiiiiieee e 88,400
Materials sold (cost Rs. 11,000) .......ccooomeiiiiiiiiiiiiiiens 14,000
Materials stolen from the contract side ......cccceeveveeneeine. 3,700
Other exXpenses.........oooi i 80,000
Material send to other contract .........ccocevveeeeveeneeeeeneeen.. 44,000
Materials returned t0 StOres .......coooeeeeieeeeeeeeeeeeeeeeeeeennn. 8,500
At end of second year :
(1) Stock of material ............ooovmmiiiiiiiiiiieeeeee e 25,000
(2) Outstanding Wages ..........ooovuuueeeeeeeeieeeiiiieeeeee e, 4,600
(3) Profits credited to P and L Alc. as
per 3/4 cash basis .......ccoooeiiiiiiiiiiii 3,30,000
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Work certified is 20 times more than the work uncertified.
Charge depreciation @ 10% p.a. as per reducing balancing
method on plant.

Prepare for the second year :
(1) Contract Account

(2) Contractee Account

3) Work-in-progress Account.

OR
2  Messrs Dhaval & Co.'s contract ledger is shown in the 20
following expenses for the end of the year 31-3-2016 :
Particulars Amount (Rs.)
Plant ..o, 70,000
Materials ....cooeeeeeeeeeeeeeee e 2,10,000
Wages ... 2,93,000
Expenses ....coooooeiiiiiiii, 15,000
Administrative expenses ...................... 10,000

Contract started on 1-4-2015 and contract price was
Rs. 10,00,000. Till today 4,80,000 cash received which was
80% of the certified work. Value of plant was Rs. 20,000 on
318t March, 2016 and value of material was Rs. 6,000. On
that day value of work completed but not certified was
Rs. 50,000.

Some of the material costing 20,000 found unsuitable
and was sold for Rs. 16,000 and a part of a plant costing
Rs. 5,000 was sold with profit of Rs. 1,000.

In order to calculate the profit made on the contract to
315t March, 2016, the contractor estimated further expenditure
that would be incurred in completing the contract and
took to the credit of Profit and Loss Account for the year
2015-16 that proportion of the estimated net profit to be
realized on the contract which the value of work certified
bore to the contract price.

The estimated were as under :

(1) That the contract would be completed upto 30-09-2016.

(2) That a further sum of Rs. 30,000 would have to be spent
on plant and the residual value of the plant on the

completion of the contract would be Rs. 12,000.

NAX-002-001403] 11 [Contd...



(3) The materials , in addition to those on hand would cost
Rs. 1,00,000 and further sundry expenses of Rs. 7,000
would be incurred.

4) Wages Rs. 1,69,900 would be incurred during the six
months completed on 30-9-2016

(5) That the administrative expenses would be uniform per
month as in the previous year.

6) Rs. 18,000 should be provided for contingencies.

Prepare the contract account for the year ended on
315t March, 2016 and show your calculations of the profit to
be credited to P & L account.

3  Following is the description regarding vehicles of a 15
Jalaram Transport Company :
30 tLUCKS ..ovveeiiee e each of 7 tonnes
25 tXUCKS ...veeeeeee s each of 4 tonnes
A5 tXUCKS ..oveeeeie s each of 2 tonnes

Each truck travels for 8 trips everyday. It runs for
9 kms in each trip. Truck lifts 80% weight of its actual
capacity. Considering yearly approximation, Everyday 10%
of trucks are in repairs.

Following are details regarding expenses in a month of
thirty days :

Rs.
2 supervisor's salary for each person ..............cccco........ 1,500
5 foreman's salary for each person..............cccccooevvvunnnnn. 700
100 driver's salary for each person .............cccccvvvvvvnennnnnns 350
300 worker's salary for each person ..............cccccccvvvunnnnn. 100
Material consumed ..........oovemmeieieeee e 15,000
Petrol ... 2,45,000
O11-8TeASE ... 63,000
Tyre-tube ..o 42,500
Garage Rent ... 4,000
Gas and electriCity .........ccooooviiiiiiiiieeeeeeeeeeeee e 5,800
SUNALY EXPENSES ..ovvveneeiiieiiiiiieeeee e e e e e eeeeees 18,384
Repairs ..o 32,480
Acertain cost ton Kilometer.

OR
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3  The Roadlines Co. Ltd possesses fleet of 10 trucks each 15
of Rs. 60,000 value.

(1) A manager is appointed at monthly salary of Rs. 450
(2) An accountant is paid monthly salary Rs. 250
(3) A peon is paid monthly salary Rs. 100

(4) Insurance at 2% p.a. premium rate for each truck is

taken.
(®) Yearly road tax of Rs. 1,200 for each truck is paid.
Other expenses :

Per Month Rs.

(1) Driver's salary .......cccoooiiiiiiiiiiieeeeeeeeeeeeee e 200
(2) Cleaner's Salary ...........cooovuuuieeeeeieiiecieeeeee e 80
(3) Mechanic's salary ..........ccccoovvveeeeeeiiiiiieeeeeeeeeeee 300
(4) Repairs (per truck for a year)..........ccccccvvvvveennnnnns 1,200

(5) Diesel 90 paisa per litre.
(average per litre is 3 kms)
(6) Estimated life for each truck ............................ 5 years
Additional Information :
(1) Each truck runs 200 kms per day.
(2) Normal loading capacity is 100 quintals
(3) Loading capacity wasted is 10%
(4) Wastage due to repairs 1s 5%
() Average working days of a month are 25
Calculate :
(1) Cost per quintals per km.

(2) Cost for operating truck for one kilorneter.
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4  Keyur Ltd. produces and sells three kinds of 15
fertilizers. During the year 2016 particulars regarding
production and expenditures are given. You are required to
prepare Process A/c and Finished Goods Account with
mentioning your working clearly :
Particulars Process-X Process-Y | Process-Z
Raw materials consumed 1,600 320 259
Cost per ton (Rs.) 500 350 275
Direct Labour (Rs.) 78,000 35,000 25,000
Direct expenses (Rs.) 62,000 23,000 10,000
Sundry expenses (Rs.) 2,240 1,100 1,752
Loss in weight 2.5% 2% 1.5%
Normal Waste (scrap) 3% 3% 3.5%
Scrap realization per ton (Rs.) 100 80 95
Selling price per ton of

finished goods (Rs.) 870 800 675
Actual Production (in Tons) 1,400 1,235 975
Production transfer (at cost)
Process Y Ale. 70%
Process 7 Ale. 60%
Finished goods stock a/c 30% 40% 100%

OR
4 (a) The following information regarding Job no. 205 10
are as follows :
Material ................ Rs. 80,200
Labour Dept. - X 1200 hours Rs. 3 per hour
Dept. - Y 800 hours Rs. 2 per hour
Dept. - Z 400 hours Rs. 5 per hour
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The overhead expenses regarding above three
departments are estimated as under :

Dept. X Rs. 6,700 for 6,700 labour hours.
Dept. Y Rs. 14,000 for 7,000 labour hours
Dept. Z Rs. 24,000 for 6,000 labour hours

Fixed overhead expenses : Rs. 30,000 for 15,000
general working hours.

You have to calculate total cost of Job no. 205 and
selling price at 25% profit on sale price.

(b) Write short note : (any one) 5
(1) Certified work and Uncertified work

(2) Abnormal Loss and Abnormal Gain.
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